log [dY, ] ! dY=Aq[1+A,/A,Y]
0.0 Tur unbunte Farben / X dY, Y

in WN-Richtung -1.0 0.0311.8
-0.5 0.054 5.6
0.0 0.12718.0
0.5 0.35956.9
1.0 1.091180
AylA; = 0.2895

A;=0.0205 A = 0.005!

Richter_D_PO2_0225)
(xy.Y)=(0,33, 0,36, 18)
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log [dY, « ] dY=A1[1+A;/A1Y]

0.0 Tfiir unbunte Farben X dY, Y
in WN-Richtung -1.0 0.03 1.8
-0.5 0.0555.6
0.0 0.13318.0
0.5 0.38256.9
1.0 1.17 180
AylA; = 0.3405
A;=0.0187 A = 0.006!
Az=10 A=10
Richter_D_PO2_066S»
;_ (x,y,Y)=(0,33, 0,36, 18)|
- ——
-05 00 05 1,0 X=log[Y/Yy]
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log [dY, « ] dY=A1[1+A;/A1Y]

0.0 Tfiir unbunte Farben X dY, Y
in WN-Richtung -1.0 0.0331.8
-0.5 0.0595.6
0.0 0.13918.0
0.5 0.39456.9
1.0 1.198180
AylA; =0.298
A;=0.0219 A = 0.006!
A3=1179 A=1.685
Richter_P_PO4_066A»
;_ (x,y,Y)=(0,33, 0,36, 18)|
- ——
-05 00 05 1,0 X=log[Y/Yy]
36 18 90 180 Y
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